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HW #12 Absolute Value Transformations

If f(x) = |x| was transformed, what would the equation change to if:

[ 1) the graph moved down 2
units?

Looy= x| -2

2) the graph moved 1 unit to the
right?

Loxy=]x-t)

3) the graph moved 4 units to the |

left?

ﬁoc)z [x+4 \

4) the graph had a vertex of (8,
¥2) ?

Q(x\-. |x-8|* ‘o

5) the graph had a vertex of
(1.5,4.5)?

Cexy=|x-15| +u.s

6) the graph had a vertex of

(-2.5,3)

Loy xr2s| v 3

Graph each transformation

7) Reflect f(x) =|x—=5[+2
across the x - axis.

8) g(x) =|x—6|

L24ssw

9 plx) =2|x-1]|

11)




